Parts List .«..x:

B 1N FL 4

Model: JHC30DX IR—YYZPa—F 523310






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
2. IO (DTUDT =R DU e 3~6
I SRV QU b B 100 5 St 3 B 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 12



1. JHC30DX
2NN



RHEES | HaES B & {1 &% &
1-1 363415 | JHC30DX 1
1-2 817002 | 6 h4H Wb (+)WSW 4 | M5X20
1-3 096042 | 6 H9H Wb (+)WSW 1 | M5X30
1-4 221473 | 959Fr—A934T 1 |5~7794
1-5 221474 | 959Fh—2A 1
1-6 016405 | ATYYY 1 | #6200ZZ
1-7 013825 | C h'4kin 1 | #30
1-8 054677 | 979FF 74 1
1-9 226399 | T UMDY IH348T 1
1-10 219435 | £ 9YUh 1hoebA 1
1-11 215532 | fiv44=%") 1
1-12 054691 | YUhT9 9347 1 [ 137494
1-13 089738 | 6 HUH Ik (+ 77 &V ) 1 | M5x15
1-14 228446 | NUNIWMYTATY H38T 1 | 157494
1-15 092561 | 6 H9K Lk (+)SW 6 | M5X25 77° Wb
1-16 228089 | ¥’ Yh—AY34T 1 [ 17~ 23744
1-17 089845 | 6 Hl b 1 | M8X10
1-18 092550 | 6 HYH Wb (+)SW 1 | M5X25-7T
1-19 212986 | NE/HRRA 1
1-20 219195 | nE/K'AB 1
1-21 215610 | 6 h4H Wb WSW 1 | M8X22 t47)
1-22 222128 | ¥¥IF R IUNY 1
1-23 222129 | 4YEVAY 1 | 5X20
1-24 089737 | 6 AR Wb (+ 777 EYH) 1 | M5X12
1-25 220549 | F194v—) 1
1-26 229267 | #—L7°L—F 1 | JHC30DX
1-27 229159 | nUNIL A TRA 1
1-28 229160 | AUNMIL B ThA 1
1-29 226963 | A{VFr—A)34T 1 |30~ 32744
1-30 226988 | FTAIRY (4) 1 | M5X18
1-31 012487 | 3% 0% 1 | M5
1-32 126993 | 6 B9+ Yk 1 | M5
1-33 226987 | ANV AAYFTIA 1
1-34 222138 | A4VFhnN - 1
1-35 103032 | ZARYMLLAN - 1
1-36 226964 | 74YThA 1
1-37 220533 | AN UM 9348T 1
1-38 222821 | Y AVAVAN =934T 1 |39,40 744
1-39 212994 | AN =V EhTY 1
1-40 092577 | 6 H9H Wb (+)SW 2 | M5X25
1-41 227510 | ¥Y7°Y—10 1




2. JHC30DX T oY




RHEES | HaES B & & &% &
2-1 858406 | IVY'Y 1 | LE300/26
2-2 265059 | Y)u&° 1
2-3 265001 | I AHYH 1
2-4 261250 | 6 H97 Y%K ILF WSW 4 | M5X20
2-5 265802 | 4UY1L—4 1
2-6 265470 | NY7LTL—b 1
2-7 261171 | A4 2
2-8 269826 | FAI4Y (H)WSW 2 | M5X25WSW AY4
2-9 281935 | ¥757tV7Y 1
2-10 265133 | ' AHYb 1

-11 266402 | %Y1 2 | M5X55

-12 284590 | YUEhiN— 1

- 269828 | FTAIRY (MW 1 | M5X16W(11.6X1)
- 266192 | ¥77h1n — 1

- 269829 | A1V (+)WSW 1

2-1 265006 | 4709 —A 1

2-1 280488 | ATYYY 2 | PPL 6001
2-1 261492 | #ALY—) 1

2-1 261386 | #4NY—Ib 1

2-2 055185 | C h'4ki0 1 | 7F39 28
2-21 261612 | 6 h97FYXK Lk WSW 3 | M5X30

2-22 264582 | 29—y 1

2-23 265066 | E'AbY 1

2-24 265067 | EANUY 2

2-25 265068 | E'ARIEY 1

2-26 265225 | Z—MAATYYY 1

2-27 261393 | =497’ 2

2-28 265141 | 47V9% 703077+ 1

2-29 264503 | 479FT7tU77) 1 |30,31 7494
2-30 264504 | 479Fv1 2

2-31 263614 | EYNYILLN % 1

2-32 264505 | Wb 2

2-33 261189 | E3%h'% 2 | 6X16.5XT1.2
2-34 261777 | 9I-7"79v% 2

2-35 284592 | 77UhN— 1

2-36 269831 | FAI4Y (HWSW 3 | M5X20WSW
2-37 269826 | TAIRY (+)WSW 1 | M5X25WSW AY4
2-38 280058 | ¥ &7 EVT) 1 |39~ 477494
2-39 261356 | 0—4 1

2-40 280059 | 19 =YvAVa(NTEYTY 1 |41 ~ 47754
2-41 267401 | 241 1

2-42 282140 | F1-7 1

2-43 280061 | 1—F7tY7) 1 |44 ~ 46 754
2-44 280062 | 1—-F 1

2-45 261074 | 7°39°%%vv7’ 1




2. JHC30DX T oY




RHE®EE | A B & 5 R 1
2-46 261075 | 794 1

2-47 261072 | ¥vv7’ 1

2-48 261076 | nury%— 1

2-49 261417 | $34 0 29%+ Uk 1 | M8
2-50 280381 | AN—¥ 2

2-51 261256 | 6 H97TYEHK L WSW 2 | M4x25
2-52 264652 | AnN=497"39" 1 | cJ8Y
2-53 267492 | )-F 2

2-54 261202 | 4'ArYb 1

2-55 264588 | h5v7° 1

2-56 269705 | 38 1

2-57 269824 | A7) 1




3. JHC30DX T oY
JaqIJLRBE—A




RHEES | HaES B & 1 &% &
3-1 283483 | JA{WARI-4T 1T 1 [2~12744
3-2 283481 | A4—47+tV77) 1 | 3~117494
3-3 283504 | -l 1

3-4 283505 | hA7'L—b 1

3-5 283506 | 4VNRT WY 1

3-6 280931 | ANATNAT YUY 1

3-7 267213 | YRS 1

3-8 283578 | A-7°7tU7Y) 1 [9~117494
3-9 283579 | A4—40-7° 1

3-10 261725 | A4—4)7 1

3-11 283511 | A=7°AMUN 1

3- 283575 | A4—47"-Y7tU7") 1

3- 280967 | 747747tV 77 1

3- 282096 | A49Y1 1 | M4X16
3- 283391 | A%Y1 2 | M4X20
3-16 261607 | 6 h97FYEK Lk WSW 3 | M5X16
3-17 264999 | 7°L—b 1

3-18 284595 | A 1 | JHC30DX




4. JHC30DX Iy
FrILAR, BEIVY




RHEES | HaES B & 1 &% &
4-1 280109 | ¥¥7°L47tV7) 1 [2~20794
4-2 261871 | O Yuy’ 1
4-3 280666 | ¥ IYh 1
4-4 282576 | H'AHYb 1
4-5 262994 | 44%77L4 1
4-6 263739 | KUK T4 1
4-7 262993 | H'AFYb 1
4-8 283905 | 4'4Y77L4 1
4-9 262991 | N=Y'K'T( 1
4-10 261874 | 7347 1
4-11 262992 | KVU7hN - 1
4- 262996 | A%Y)1 4
4- 261876 | vy 1
4- 264678 | 79YY 1
4- 261658 | A4AL 1
4-1 261875 | A%Y1 2
41 264677 | 7°37vh 1
41 261657 | N'YEY 1
4-1 261878 | Fwh 1
4-2 263994 | A%Y1 1
4-21 269981 | TnNA4— 1
4-22 261864 | H' AHYh 2
4-23 284821 | T—A7tY7) 2 | 24 ~ 29794
4-24 284802 | N7 2
4-25 284803 | Lin'— 2
4-26 284816 | 79y¥ 2 | 6.4X11X0.15
4-27 269032 | A%Y1 2
4-28 126993 | 6 HHF Yk 2 | M5
4-29 269051 | RY)=7" 4
4-30 269834 | FA'I%Y (+)WSW 2 | M5X60WSW
4-31 269030 | ILAVH 1
4-32 269027 | 4Y—Thn'— 1
4-33 269031 | A%Y1 1 | M5X12
4-34 267029 | 497077 1 |35~ 4574L
4-35 266999 | 71-I)4VY 1
4-36 261584 | 4u9%¥Y7° 9347 1 | 37794
4-37 261105 | A%y 1
4-38 261696 | 749347 1
4-39 265952 | 71-ILNA{7TtUTY 1 | 40 ~ 457494
4-40 265867 | NATTEYTY 1 |41 ~ 43791
4-41 265869 | ¥’ O YE 1
4-42 261690 | #YYAINAT’ 1 | 160L
4-43 263038 | A—n70-N47 1
4-44 264653 | 7437 EVT) 1
4-45 261117 | 4y97° 1

-10-




4. JHC30DX Ty
FrILAR, MBIV

-11-



HREE B O & (R i
4-46 264318 | NN 2
4-47 263824 | NN 1
4-48 261117 | 997’ 1
4-49 284586 | 38 1 | F3-9 YN =907y

-12-




5. JHC30DX
+ & m

-13-



RHE®EE | A B & 5 R 1
51 221460 | K3 A% 1

5-2 220534 | AYnhn'— 1

5-3 210418 | AVE' R VHAANT 1

5-4 219431 | 6 ho9R9ANT 1 | ZAunn' 3
5-5 022865 | YAVHFANT 1 | 8x10

5-6 228779 | M)7Yh4t€ A3 1

-14-




